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INDIAN ECONOMY 1950-1990

At independence, about 75 per cent of the country’s population was
dependent on agriculture. Productivity in the agricultural sector was very low because of the
use of old technology and the absence of required infrastructure for the vast majority of
farmers. India’s agriculture vitally depends on the monsoon and if the monsoon fell short the
farmers were in trouble unless they had access to irrigation facilities which very few had. The
stagnation in agriculture during the colonial rule was permanently broken by the green
revolution. This refers to the large increase in production of food grains resulting from the use
of high vyielding variety (HYV) seeds especially for wheat and rice. The use of these seeds
required the use of fertilisers and pesticide in the correct quantities as well as regular supply of
water; the application of these inputs in correct proportions is vital. The farmers who could
benefit from HYV seeds required reliable irrigation facilities as well as the financial resources to
purchase fertilisers and pesticide. As a result, in the first phase of the green revolution
(approximately mid 1960s up to mid 1970s), the use of HYV seeds was restricted to the more
affluent states such as Punjab, Andhra Pradesh and Tamil Nadu. Further, the use of HYV seeds
primarily benefited the wheat- growing regions only. In the second phase of the green
revolution (mid-1970s to mid-1980s), the HYV technology spread to a larger number of states
and benefited more variety of crops. The spread of green revolution technology enabled India
to achieve self-sufficiency in food grains; India no longer had to be at the mercy of America, or
any other nation, for meeting its food requirements.

Growth in agricultural output is important but it is not enough. If a large proportion
of this increase is consumed by the farmers themselves instead of being sold in the market, the
higher output will not make much of a difference to the economy as a whole. If, on the other
hand, a substantial amount of agricultural produce is sold in the market by the farmers, the
higher output can make a difference to the economy. The portion of agricultural produce which
is sold in the market by the farmers is called marketed surplus. A good proportion of the rice
and wheat produced during the green revolution period (available as marketed surplus) was
sold by the farmers in the market. As a result, the price of food grains declined relative to other
items of consumption. The low- income groups, who spend a large percentage of their income
on food, benefited from this decline in relative prices. The green revolution enabled the



government to procure sufficient amount of food grains to build a stock which could be used in
times of food shortage.

While the nation had immensely benefited from the green revolution, the technology
involved was not free from risks. One such risk was the possibility that it would increase the
disparities between small and big farmers—since only the big farmers could afford the required
inputs, thereby reaping most of the benefits of the green revolution. Moreover, the HYV crops
were also more prone to attack by pests and the small farmers who adopted this technology
could lose everything in a pest attack.

Fortunately, these fears did not come true because of the steps taken by the
government. The government provided loans at a low interest rate to small farmers and
subsidised fertilisers so that small farmers could also have access to the needed inputs. Since
the small farmers could obtain the required inputs, the output on small farms equalled the
output on large farms in the course of time. As a result, the green revolution benefited the small
as well as rich farmers. The risk of the small farmers being ruined when pests attack their crops
was considerably reduced by the services rendered by research institutes established by the
government. You should note that the green revolution would have favoured the rich farmers
only if the state did not play an extensive role in ensuring that the small farmer also gains from
the new technology



